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General Studies—I
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1. Write short notes on the following :
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(b) Discuss the growth of colonial technical education in Bihar under various
schemes of British rule, Critically analyse its impact. 38
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. {a)  Analyse the development of lemples in North India in ancient time. 38
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Section—II
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Write short notes on the following :
(a) Wherg was the 18th National Scouts and Guides Jamboree organized?
Describe its objectives.
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(b) Explain the mandate of United Nations Public Administration Network in

gan{"?igg the peace and strong institutions under Sustainable Development
oal-16.
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Discuss the right-based e-service delivery scenario of Bihar!
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Describe the efforts made in the field of solar power generation in the State
of Bihar.
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Critically examine the features of self-reliance Bihar Saat Nischay-2
(2020-2025) programme of good governance.
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(c)

(d)

(e)

What are the draft regulations announced recently by the University Grants
Commission to open the ‘door for foreign universities to'set up campuses in
India? What prospects do you visualize about their impact on higher education

3 in India? Do you think it will be a game-changer? Give arguments in support
of your answer. . '
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(b) In the wake of its criticism by the Vice-President of India recently, critically
examine the doctrine of basic structure given by the Supreme Court of India
half a century ago. Do you think this debate will prove to be a point of clash = =
between the executive and the judiciary in near future? Give

ments. 38
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6. (a

(b)

Do vou think India must reclaim the leadership of the developing world

* through its ambition to steer the G-20 Summit in Delhi to success later this

year, despite India's own enduring developmental challenges? Do you think
India faces the real difficulty of uniting the Global South in pursuit of common
goals? Write your answer with convincing arguments.
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Evaluate the role of United Nations in access and resource management
about support of Syria and Turkey earthquake disaster.
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Study the following table carefully‘;ﬁc::i‘ answer the \qu.esﬁons given below
this table : : : Sy

Highest and Average marks obtained by students in five subjeds
during 2012-2017. The maximum marks in each subject are 100.

38
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~Year g, e Vst oL s sl fasSubject; Py LR LS R
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English " Hindi | Mathematics | Science [ . History

(H) (A) H | @ (A) (A) (H)

Highest| Average|Highest|Average Highest Ave;-age Highest|Average|Highest [Average
] (H) : (H)

(A)

2012 85 65 80 60 75 60 | 76 S0 80

S0

2013 | 80| e0 | 75 |63. O . o T T

70

2014 | 83 | 62 | 80 | 60 | 75 [ 80, | SO |, 30 | 82

1

60

2015 70 55 75 50 85 65 85 55 80

60

{2006 ] " 72 5| 80" |70 | MO 80 | 88 | w0 |60 90

——— «

N

65

2017 |" s+ |o60 | 80 |60 | @8 | 70 | 70 | 40-7 70

55
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(H) (A) (H) (A) (H) (A) . (H) (A) (H) (A)
2012 @ _ @ 80 | 60 | 75-| 60} | 76y | s0 | 80 | s
2013 80 60 75 63 75 55 | ssf 35 85 70
2014 83 62 80 60 75 50 503 30 | 82 60
2015 70 55 75 50 857 | 65 85.{ 55 80 60
2016 | 72 50 70 50 80 55 90.; 60 90 65
2017 | 75 60 | 80 | 60 | 85 @ 70 | 40 | 70 | ss
(a) What is the combined average marks of all the five subjects in 2015? 6
i w@@ = 27
(b) What is the percentage increase in average marks of English from f
2015 to 2017? : 6
2015 & 2017 H 3 % 3fea 3 & foaw wford 61 9fg 27
(c) During which year the difference between the highest marks and highest
average marks in Maths was maximum? T 6
%ﬁ?’nﬁmﬁﬁﬁqaﬁm@‘maﬂuﬁaﬁmwwaﬂﬁmm? A
\"__ ————
(d) What is the percentage of highest marks in Hindi in 2013 with respect to
average marks of Maths in 20167 6
2013 # f&i § 3w i 1 R, 201651111%13% aimaaﬁaﬂmm
yfaera 87 _ S
(e) If 50 students took the examination in 2013 in Maths, what were their
total marks? 6 5
afz2013ﬁ50ﬁmﬁlﬁﬁnﬁmﬁqﬂmﬁ ﬁﬁuﬁm@mﬁnmm? !
(f) In between which two years, the difference of highest marks in Scnence was :
maximum? 6
ma‘rmﬂ%m"ﬁm :ﬂﬁwmw&mm?
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(b)

(c)
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Study the following graph carefully and answer the questions given below :
Profit percent of companies ABC and DEF during the year 2001-2006

[Profit percent = Ll oo i 100]

Expenditure
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Let the income in 2005 of companies ABC and DEF was in the ratio 3 : 4.
What was the ratio of expenditures of companies ABC and DEF in 2005? 8

m%ZOOSﬁ?!Wﬁ!ﬁABCaﬂtDEFﬁmm 3:4 % 3um ¥ of
2005 # 3% (s ABC 3 DEF %) =7 1 Seifta Suw &= a2

If expenditure of company DEF in 2002 was ¥ 190 cr., what was its income
in the year 20027 5
3 2002 # %9t DEF &1 @4 € 190 %S U1, Tt 3™ 2002 & w0 oft?

If expenditures of company ABC and DEF were equal in 2001 and total

income of both the companies in 2001 was ¥ 825 cr, then what was the
total profit of both the companies in 2001? 10

3R 2001 # @9 ABC 31 DEF 3 s v & 31t 2001 § 2t safwi @ g
g ® 825 He off, 2001 # g1 HufEl w1 Fe T =1 °q1?
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(d) Income of company ABC in 2004 was ¥ 750 cr. What was the expenditure 5
in 20047 ;
o 2004 & S ABC Ht 3T & 750 wire ot gaw T a9 2004 # 1 17

(e) If income of both the companies was equal in 2003, find the ratio of p

expenditures of company ABC and DEF in 2003.
af2 2003 3 QA1 S why 3 s ofl, &1 2003 i Fuft ABC
DEF % =54 & igaTa &1 417

The Bar Graph given below shows the sales of books

from six branches of a publishing company during two conse

and 2001.
Sales of Books (in thousand numbers) from Six Branches—B1, B2, B3, B4, B5

and B6 of a publishing company in 2000 and 2001 are following :
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(b) Total sales of Branch B6 for both the years are what percent of the total sales
of Branch B3 for both the years? 8

21l % e v B6 ) et sk, A el 3 forg v B3 1 et sk
e afa gy

(c) What percent of the average sales of branches B1, B2 and B3 in 2001 is the
average sales of branches B1, B3 and B6 in 20007

2001 i wrEnsit B, B2 3 B3 1 sl fasht 1 fbery sfrera 2000 # v
B1, B3 3 B6 1 3ifem skl 277 . '

(d) What are the average sales of all the branches (in thousand numbers) for the
year 2000?

aﬁzooo%%qaﬁwaﬁﬁaﬂwﬁﬁ(mﬁwﬁ)%ﬁ%?

(e) A total sale of branches B1, B3 and B5 together for both the years (in thousand
numbers) is what? e ;

2t sl % fore wmaral Bl,BSsﬂTBSﬁgﬁrﬁﬁ-(Wé@Iﬁ)m%?
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The following pie-chart shows the percentage distribution of - the total

expenditure - incurred by a company in different expense  sections

during 2015. Study the pie-chart and answer the questions given below :

Percentage distribution of total expenditure of a company

Infr | lnfrastrucﬁre
Tra = Transport
Adv = Advertisement
Tax = Taxes

R&D = Research and
Development

Sal = Salary
Int = Interest on Loans
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(a) How much times the total expenditure of the company is of expenditure of
research and development? 7

%@%maﬁwnﬁ,wﬁuﬁnmmm%ﬁﬁ:ﬁgﬂ%?f”

(b) If expenditure on transport is ¥ 2 crores, then what will be the difference
between the expenditures on salary and advertisement? 7

afy afet W = o0 s 2, A TR 3 R wOEe % ol S

(¢) What is the ratio of the total expenditure of taxes and interest on loans and
total expenditure on infrastructure and transport? : 7
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(d) If expenditure on interest on loan is  2:60 crores, then what will be the total
expenditure on advertisement, taxes and salary? 7

T 1 9T AT ?2-60W%ﬂﬁw,ﬂiﬁaﬂtqﬂﬂﬂmﬁﬁlnﬁr
w1 8l 7

(e) How much times the difference of expenditure on interest on loans and the
expenditure on advertisement is of the expenditure on advertisement? 8
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